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= 288
Ea 288
OS+a2=E 120,0002 3+ 122 4,320
Il 3,456
= 432
[Ea 432
OAlt2I22+E
9,860 x3E*10AI 2+ 12& 3,550
Jl 2,840
= 355




SN AABTY
. AISH2A= MHIA
s Xt dEe 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 355
OF A S A 140,0002x3& * 122 5,040
Jl 4,032
= 504
Ea 504
OYItE 4| 60,0003 x3&+6& 1,080
Jl 864
= 108
Ea 108
03 SR (RIH )22 U2+ 323,040 294,280 28,760
ORIIHAZ 2R 212 323,040
OJlZ=s 2,750,000 «8& « 12 264,000
Jl 211,200
=S 26,400
s 26,400
O=g 295,000 x8H «12& 28,320
7l 22,656
= 2,832
o 2,832
OEE=IH| 1,700,000 8 <22 27,200
7l 21,760
S 2,720
o 2,720
OSJt2 &l 120,0003 x8& +3 2,880
Jl 2,304
= 288
o 288
O Eele 1I=H| 80,0002 8% 640
7l 512
S 64
o 64
201 et 3| 141,870 260,450 118,580
Jl 113,4%
= 14,187
Ea 14,187
01 AtR2t2|HI 41,930 71,250 N29,320
OXIfetaitle 28=5 7L 4,000
Il 3,200
= 400
o 400
OXIBHetHIE 82 258 S MA(FY) 3,000
Il 2,400
= 300




SM: ALEXY
B AYEFO|ZMY|A
ol XIDHOHAMIE 2 (12l M2
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
i 300
ogx=z 25,100
Oxtsdxt= 600,000& *3CH+ 122 21,600
| 17,280
= 2,160
= 2,160
ot & E=J] S Xt 3,500
| 2,800
= 350
= 350
OXIOHotAIHIE 2 Mal o 1,500
| 1,200
& 150
i 150
OHISIZRI| HOIE X2
4,500 x5H 123 5,130
| 4,104
= 513
= 513
032ZJ] KAl E==t| 160,000& *12& 1,920
| 1,536
= 192
= 192
OXZ2™ Il=sH| 80,000 *3H 240
| 192
= 24
= 24
OXZoI™E W=H| 1,040
| 832
& 104
i 104
02 32| 4,500 5,000 AB00
OxEs X2l & 2FU
250,000& 123 3,000
| 2,400
& 300
= 300
oRERZ 500
| 400
= 50
= 50
OAIZEHIRXIHI 1,000
| 800
= 100
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FA ABSL
ma: AUZFO|ZMHIA
ol XIDHOHAMIE 2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 100
03 A= 95,440 184,200 88,760
OXIHAADNE HAL 2 S 4,000
Jl 3,200
= 400
o 400
OxH==2 g & =LA S 4,000
Jl 3,200
= 400
Ea 400
OJI9MZ dH & XS wdESE
2,500,000 7 17,500
Jl 14,000
= 1,750
o 1,750
OJIM=EH 29E 2,860,000 *7& 20,020
7l 16,016
= 2,002
o 2,002
OXIofetaintS 249
1,000,000 394 2 3,000
7l 2,400
= 300
o 300
O%XIY Xt EE 29
480,000 * 1200 2+ 7 40,320
Jl 32,256
=S 4,032
s 4,032
OJtEwA 2 200,000 +82] 1,600
Jl 1,280
=S 160
s 160
OXIHIIEIM R Z2 08 29 2,000
7l 1,600
= 200
o 200
OS3tAY 2 S 3,000
7l 2,400
= 300
o 300
202 04| 10,880 9,250 1,630
Jl 8,704
= 1,088




SH: ABBD
BH: AUSHOARAHIA
ol XIDHOHAMIE 2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 1,088
01 2L AL 10,880 9,250 1,630
OAHEEMSIIMEFE =L 5,120
OZUodtl 120,0003 =3~ 122 4,320
7l 3,456
= 432
o 432
Oz=el0t| 800
Jl 640
S 80
[Ea 80
O3RH(RIIH)22 X =] 5,760
O04H| 60,0002 8 * 122 5,760
Jl 4,608
=S 576
s 576
204 APt AH 1,800 1,800 0
J| 1,440
=S 180
s 180
02 S3E =3l 1,800 1,800 0
OAIZHIHLIIR 012 THRIZ S|
50,0002 38 * 122 1,800
J| 1,440
= 180
o 180
301 22N 48,270 61,900 213,630
Jl 38,616
= 4,827
o 4,827
11 #AIAHIXIE S 7,570 13,000 A5,430
OZ=z8 FOA WSHl € 2tA & 7,570
Il 6,056
= 757
Ea 757
14 0Bt 2a3 40,700 46,400 A5,700
ONESAL & 8= 2d= 5,000
Il 4,000
= 500
Ea 500
OgE2AAN =& 350, 0002 x3H *342 35,700
Il 28,560
= 3,570
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SH: ABBD
. AISH2A= MHIA
ol XIDHOHAMIE 2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 3,570
M HASFESS 50,400 29,400 21,000
Jl 40,320
= 5,040
Ea 5,040
M 3RA(RIAHL) 220N BEERE=3 S 50,400 29,400 21,000
O4i2E JIARE=
350,000 «8H *12& 33,600
Il 26,880
= 3,360
Ea 3,360
(O)EES={GESS =) 2,100,000 «8H 16,800
Il 13,440
= 1,680
[Ea 1,680
307 @120l & 90,000 103,000 213,000
Il 72,000
= 9,000
o 9,000
012z & 2=Hl 90,000 103,000 213,000
Oxs=8 4 9g=8 & ¢ 82,000
Jl 65,600
S 8,200
= 8,200
OXIHZ=I1E & 8,000
Jl 6,400
S 800
= 800
405 KHaHF =4I 500 2,000 1,500
) 400
& 50
= 50
01 AL =S F=HI 500 0 500
OXIMHetAHE 2lat2a ZelE)| e
500,000 *1CH 500
Jl 400
< 50
= 50
XoHxIZ2teld] X (HEAY) 249,000 200,000 49,000
= 124,500
Ea 124,500
308 AHAIEMSOIE 249,000 200,000 49,000
=S 124,500




FA ALS
M AAYSTO|2MHIA
el XIDHQIAIMIE 29 o @el)
SA - B SRIBH) - MRAR - BAS A HIDEZ
o 124,500
183 S| 2SO ZB XA AIE 249,000 200,000 49,000
OXINXIZ2el Xl XI& 249,000
s 124,500
s 124,500
BhalZ X101 XI& 1,848 1,848 0
201 et ] 1,848 1,848
01 AFR2telHl 1,848 1,848
OtHaIZ XDl MEIA 0182
11,0002 148 * 122 1,848
S S3=A 600 600 0
) 480
== 60
i 60
301 LEtE NS 600 600 0
Jl 480
& 60
o 60
1 AREIXNES 300 300 0
OSSN SS=H WFAH S 300
Il 240
== 30
[ 30
B2 d= 300 300 0
OSSN ss=20 25| 300
Il 240
== 30
[ 30
XIOHZ &H X2 (KHAN) 2,500 5,000 A2,500
307 elztol & 2,500 5,000 22,500
0192 & 3=l 2,500 5,000 22,500
OXIONZ&ldl K& 100,000 +25& 2,500
dY2IFHI(AFSTM) 45,604 48,740 A3,136
JlE2dsI(AAsE ) 45,604 48,740 A3,136
Y =B 5,520 5,340 180
203 =] 5,520 5,340 180
M EASHLRFAH 5,520 5,340 180
ORNSgERF=AHI
460,000 123 5,520
ot2 | 13,684 17,000 A3,316
201 er2&| 13,684 17,000 A3,316
01 At2teltl 9,684 13,000 A3,316
OZAlH| 9,0002*16H*341x 122 5,184
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Ofl &k2h

4,000

26,400
26,400

26,400

Ofl &F2H

4,500
4,000
4,000
26,400
26,400
26,400
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30
0B
M0
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202 044l
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